Multiplication

Worksheet-2

A] Choose the correct answer

1. 1564867 X = 1564867

a) 0 b) 1
C) 2 d) None of these

2. 8965364 x =0

a) 0 b) 1
c) 8965364 d) None of these

3. 8965364 x = 452 x 8965364

a) 8965364 b) 8695364
c) 452 d) 425

4.100000 x 100 =

a) 100000 b) 1000000
c) 10000 d) 10000000

5,9x4=3x6x

a) 36 b) 18
C) 2 d) None of these

6. The cost of one motor bike is Rs. 26780. What will be the cost of
12 motor bikes?

a) Rs. 321360 b) Rs. 312360
¢) Rs. 322360 d) Rs. 231360

7.2692 x 362 = 2692 x 300 + 2692 x + 2692 x




a) 360, 20 b) 20, 60
c) 60, 20 d) None of these

8.15784 x 235 =

a) 3079240 b) 3709240
c) 3702940 d) None of these

9.271+27+27+27+27= X5

a)5 b) 135
c) 27 d) None of these

10. There are 325 toffee in a box. Julie purchased 45 boxes of toffee,
but she found 885 toffees were rotten. What is the number to toffees
that are in good condition?

a) 13740 b) 23740

c) 17340 d) 13470

2. Find the product:
(i) 6 x 1000

(i) 12 x 100

(iii) 125 x 10

(iv) 7 x 900

(v) 23 x 200

(vi) 465 x 300

3. Solve the following:

1. Mike travels 380 km per day. How much will he travel in 120 day?

2. Ron spends Rs 8382 per month. How much will he spend in 112
months?




3. One coat costs Rs 1121. How much will 248 such coats cost?

4. The cost of a table is Rs 3838. How much will 123 such tables
cost?

5. A motor-bike cost Rs 2138. How much will 189 such motor-bikes
cost?




